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FHED © BEHEE (12 97)

Section A: Multiple Choice Questions (12 Marks)
1.

TRISAHN B2 2 ABBT > S5 (5T pR AV L B AT YT A

According to the star trails in the figure, estimate the location -

of the place and the facing direction. / R \
A, dBEEkdEH North at North Hemisphere T

B. JbEkmiH South at North Hemisphere \ <

C. m¥ERILH North at South Hemisphere

D. F-FEKEH South at South Hemisphere Hh T Ground

G AME A BAARILFEERAIR > 2
According to the graph, which position

represents the autumnal equinox of the
. Earth axis
Northern Hemisphere? o

A A D 5
B. B
C. C
D. D
DU HME e sl a Y B 2 1 6 2 1R 2

Which of the following spectral class and surface temperture pair is correct?
A. G Type 3000K

B. O Type 6000K
C. AType 10,000K
D. M Type 40,000K

U (B P IR E KGR I MSERE 2

Which of the following sequence represents the structure of the Sun (starts from the interior layer)?

A. HE—ESE—>LEkE—-aiK = Corona, Radiative Zone, Photosphere, Chromosphere
B. HE—HEHE—0IKE—>{tEkE Corona, Radiative Zone, Chromosphere, Photosphere
C. HE¥E—-{EKE--trkE—-H& Radiative Zone, Photosphere, Chromosphere, Corona
D. HEEfE—fmEkE—>{tEKE—>HE&E Radiative Zone, Chromosphere, Photosphere, Corona
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HR AL Y -

In the HR diagram , white dwarfs locate at :
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GEHERZE KRR MY —E KAy R ?

According to the figure, what catalogue does the deep
sky object belong to?
A TEFERKEEYIR

Messier Catalogue

B. FHMEEM KESYIFE Caldwell Catalogue
C. BE4ufERaEyIF= Barnard Catalogue
D. JiEEE Kiay|Z= Herschel Catalogue

RIGIE X-1 A LA T A—FE R 2
Which of the following types of black hole does Cygnus X-1 belong to?

A BB Stellar-mass black hole

B. HEAREME Intermediate-mass black hole
C. H=EIHEF Supermassive black hole

D. DILEERIE None of the above

PURAREE 2RI T ?
Which of the following plants belong to gas giant?

) REE Uranus.

n +£ Saturn.

n £ Venus.

A, HAEIRI I'and Il only

B. HAEIKI I and Il only

C. EHIEN Il and lll only
D. DI EEE All of the above

LU AR E B r i R et am e 52 7
Which of the following is the general relativity phenomenon being

shown in the figure?

A. E A% Gravitational Redshift
B. EJFEEE Gravitational Lensing
C. EHIF Gravitational Wave

D. HJjES Gravitational Slingshot
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10. DA ARTE R A A 2 PR e 2
Which of the followings are used for estimating the stellar distance?
) S EAYEH R R The period and apparent magnitude of Cepheid variable star.

)  HIl &Y AN The size of H Il region.

M) la ZIHEEHT B YCERYRE The peak intrinsic brightness of type la supernova.
A, HAEIREI I and Il only

B. HAEIKII Il and Il only

C. DIEEE All of the above

D. DL EERIE None of the above

11, R RZBIR A EER R & 7
What type of galaxies does Milky Galaxy belong to?

A HEEIE A Elliptical Galaxy

B. HhEEAR Barred Spiral Galaxy
C. AHANEZ Irregular Galaxy

D. DIEERIE None of the above

12, PURHR—{EA 2 s B RO 5 2

Which of the following is not the model of the universe in ancient Chinese Astronomy?

A, ERER The theory of sphere-heavens

B. JEKER The theory of canopy-heavens

C. JE;:zR The theory of chaos-heavens

D. EHWRX:H The theory of expounding appearance in the night sky
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ZHh - HE—E (13 77)
Section B: Conventional Questions (13 Marks)
1.

/NERHERS T — S SR AT VR R R o Y E
6] 2018 &£ 7 H 27 HHf I 23 B% 59 7y Fd HEE A EK -
558 HBRIEZRBCE st 14T L2 TIEEL & » fE[F]—7
TR T T EBUHIEDK R - G E A H 8 NEUHIRVECE: -
RSN EEZET AR ERSG 1T -

Siu ming travels to Saudi Arabia with a telescope. He
observed the moon on 27th July, 2018 at local time 23:59.
He discovered that the moon turned red and is transiting the

local meridian. In addition, the mars is also locate at the

same meridian. The figure shows his observation record and

each vertical grid represents 1 degree in the true field of view.

(a) ARAESCHPTAL - B4 T AL WIRE R SRS 2 (2 57)
According to the text, what two astronomical phenomena happen ? (2 marks)
(b) EREZEEEAN—K? (147)
What is the Lunar day on the date? (1 mark)

(c) Fax H SRS S RIE 7 A2 1000 F2 25mm > SE(E R EIFIVIURR R EFEHE - (297)
If the apparent field of view and the focal length of the eyepiece is 100° and 25mm respectively,

please estimate the magnification and the focal length of the telescope. (2 marks)
(d) HEZEEHFELLE /5 - HZEEEA TREET 10 HHyREE ? sl - (2 57)

If the focal ratio of the telescope is f/5, is it possible to observe a faint star with apparent magnitude

10 by using this telescope? Explain your answer. (2 marks)
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2.

TEVERE R L2 X R Y B bR -

The following HR diagram shows the evolution of two main sequence stars X and Y.
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(a) Al—MEREEERA ? Sl -

(In degrees Kelvin.)

Which star is more massive? Explain your answer

(b) X K Y oyl g e EE ?

What kinds of nebula would X and Y produce respectively?

(c) &5 R(b)NHYEE T HIFIEREH —(EHT -

Give one example for each type of nebula in (b).

445¢ End of Paper
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